D This is the Eiffel Tower. It's in Paris, It's res
flr-ll ::Iir]“ |||"_||||i||| || .||_,| i '|'|| ! II."I_I'u.
6 million people visit the Fiffel Tower each voar ¢y,

lOP, you can see all of Paris

5B North and south

1 2 It'scold. 7 It's raining,
3 It's windy. 8 It's sunny,
4 It's cloudy. 9 It's foggy.
S It's snowing. 10 It'sicy.

6 It's hot,

2 AcCross: Down:

4 autumn 2 summer
5 wet 3 north
7 spring 5 winter
8 west 6 fine

7 south

3 2 cooler 3 higher 4 flatter 5 higher 6 shorter

4 1 Pam 2 Lisa 3 Anna 4 Eve 5 Kate

5 2 more beautiful 3 happier 4 more difficult 5 flatter

6 colder 7 longer 8 nicer



sndwich is thinner than | larry’s. Harry's sandwich
[

6 2 Mickss Mick’
ic thicker than IVIICKS.
is thi than Duke.

er than Pongo. Pongo is smaller

3 Duke is bigg |
y was drier than

4 Saturday was wetter than Sunday. Sunda

Saturday. _
5 The mountains are quieter than the beach. The beach is

more crowded than the mountains.

5C Record breakers

1 2 Europe 3 Asia 4 Oceania 5 Africa
7 South America

2 Vatican City e
the Nile d
Tokyo f
Everest g
the Atlantic b
the UK ¢
the Pacific h

3 2 Vatican City, the UK
3 the Atlantic, the Pacific
4 Tokyo
5 Everest

4 2 QCeania 3 Australia 4 Africa 5 South America
6 bigger

6 Antarctica

5 2 winttoet o PR R ol AR .
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